24
25
26
27
28

29
30
31
32
33

34
35
36
37

Life Cycle Assessment of a solar thermal system in Spain, eco-design alternatives and

derived climate change scenarios at Spanish and Chinese national levels

Jaume Alberti*, Juliana Raigosa'?, Marco Raugei'-?, Rafael Assiego'*, Joan Ribas-Tur'-’, Niiria

Garrido-Soriano®, Linghui Zhang’, Guobao Song’, Patxi Herndndez®, Pere Fullana-i-Palmer!

'UNESCO Chair in Life Cycle and Climate Change ESCI-UPF, Universitat Pompeu Fabra, Pg.

Pujades 1, 08003 Barcelona, Spain

2 Innovation Center on e-government, Ministry of Information and Communication Technologies,
Bogota, Colombia

3 Faculty of Technology, Design and Environment, Oxford Brookes University, Wheatley Campus,
Oxford OX33 1HX, UK

4 ETS Arquitectura, Energy Group-University of Malaga, Pl. El Ejido s/n, 29071 Malaga, Spain

3 ESCI-UPF Research in International Studies and Economics (RISE), Universitat Pompeu Fabra,
Passeig Pujades 1, Barcelona 08003, Spain

¢ Sustainability Measurement and Modeling Lab, Universitat Politécnica de Catalunya (UPC),
School of Industrial, Aeroespace and Audiovisual Engineering of Terrassa, Colom st., 08222
Barcelona, Spain

7 Key Laboratory of Industrial Ecology and Environmental Engineering (MOE), School of
Environmental Science and Technology, Dalian University of Technology, No.2 Linggong Road,
Ganjingzi District, Dalian 116024, P. R. China

8 Tecnalia, Barrio Lasao, E-20730 Azpeitia, Gipuzkoa, Spain

(*) Corresponding author: jaume.alberti@esci.upf-edu.+34 932954710. Fax +34 9329554720.
http://unescochair.esci.upf.edu/

Acknowledgements

One of the authors (Alberti) wishes to thank the UNESCO Chair in Life Cycle and Climate
Change at ESCI-UPF for funding his PhD thesis, which this paper comprises part of. Another
author (Raigosa) gratefully acknowledges the opportunity to develop her Master’s thesis, carried
out at the UNESCO Chair, with additional supervision by Nuria Garrido and Marti Rosas,

lecturers at Universitat Politécnica de Catalunya (UPC).

This paper 1is partially based on the outcomes of the RENIA Research Project

(http://www.reniaproject.org/). Funding to RENIA was provided by the Spanish Government,

through the National Plan for Scientific Research, Development and Technological Innovation,
and by the European Regional Development Fund of the European Commission. Special thanks

are due to the solar panel producer, Termicol S.L., for facilitating field data for the project.

The authors at the UNESCO Chair want to hereby state that the authors are responsible for the
choice and presentation of information contained in this paper, as well as for the opinions
expressed therein, which are not necessarily those of UNESCO and do not commit this

Organization.


http://www.reniaproject.org/

38

39
40
41
42
43
44
45
46
47

48
49
50
51
52
53

54
55
56
57
58

59
60

61

Abstract

Solar thermal energy is considered a ‘clean’ form of energy; however, environmental impacts
occur during its life-cycle. The present work compares the environmental performance of two
scenarios: a solar thermal system for providing domestic hot water (DHW) used in conjunction
with a traditional natural gas heating system, and the natural gas heating system on its own. Weak
points are found and different eco-design scenarios are evaluated in order to achieve a more
circular economy. In addition, the authors explore what would be the national Greenhouse Gas
emission reduction potential of a wider use of domestic solar hot water systems (DSHW) in
China’s and Spain’s built environment. In this case, five displacement methods are suggested to

show how the emissions reduction vary.

Through a review of the state of the art and a Life Cycle Assessment of a solar system the two
scenarios are assessed. Some impact categories, such as global warming, suggest a markedly better
performance of the solar system (-65%). However, weak points in the solar solution have been
identified as there is an increase of impacts in cases such as acidification (+6%) and eutrophication
(+61%), mostly due to the metals used. The components with higher environmental impact are the

collector, the tank, and the copper tubes.

The reduction of national emissions by promoting DSHW depends on the actual displaced
technology/ies. The consequences on national emissions reduction depending on these choices are
assessed. The potential reduction of emissions, if 30% of the DHW were covered with solar
sources, would be between 0.38% and 0.50% in the case of Spain and between 0.12% and 0.63%

in China.

Key words: Renewable energies, building, circular economy, national emissions, nationally

determined contributions



62

63
64
65
66
67
68
69
70
71

72

73
74
75
76
77
78
79

80
81
82
&3
84

85
86
87
88
89
90
91
92
93
94
95
96
97
98
99

1. Introduction and background

Since the beginning of the industrial age, human populations have expanded and greatly increased
access to natural resources. The exponential rise in human population has been paralleled by
increased agriculture, urbanization and energy consumption. In a little over than a century, humans
have already consumed a large portion of the existing fossil fuels, which took millions of years to
produce (Crutzen, 2002). From the 1970’s, after the oil crisis, renewable energy technologies have
been developed in order to supplement, and possibly ultimately replace, oil and other fossil fuels
as the main source of energy (Kamp, 2008; Schnitzer et al., 2007). These types of energy are
produced in continuous and virtually inexhaustible ways, using energy sources such as: solar,

wind, hydro, biomass, and geothermal (Dincer, 2010).

1.1 The European Union’s energy characteristics

Since 2004, the EU-28’s net imports of energy have been greater than its primary production
(EUROSTAT, 2018). Regarding the fossil fuel sourced energy, according to the European
Commission (EC) Green Paper published in 2002 (European Comission, 2002), the EU was
largely and increasingly dependent on fossil energy imported from non-EU countries. In 2002, the
EU was dependant on approximately: 76% for oil, 40 % for natural gas, and 50% for coal. After 12
years, the energy import dependency increased, reaching up to the 87.7% for crude oil and the

70.4% for natural gas (EUROSTAT, 2018).

As it has been known for many years already (Smithers and Smit, 1997), this accelerated evolution
is having important global effects beyond fossil fuels depletion per se, such as climate change
induced by human-released greenhouse gases, which is causing negative impacts on society and
the economy. Specifically, the building sector is responsible for around one third of the final

energy consumption and for around one third of the global CO, emissions (IEA, 2013 and 2018).

Being aware of this situation, the European Commission set a challenge for the year 2020: all new
buildings shall be nearly “zero-energy” buildings (European Parliament, 2012, 2010), i.e., they
should produce as much energy as they consume during their operational stage. Additionally,
scientists have argued that the definition should be extended to also include other stages of the life
cycle of a building (Blengini and Di Carlo, 2010; Hernandez and Kenny, 2010; Kylili and
Fokaides, 2015; Li et al.,, 2013; Passer et al., 2012). Two possible approaches to increase
sustainability by reducing energy consumption in buildings can be applied: active and passive
systems. In a passive building, shell systems such as windows, walls, floors, and roofs are
designed to increase the building insulation in order to reduce the energy demand in the use stage,
conducting to a lower environmental impact of the building in a life cycle perspective (Passer et
al., 2012; Schmidt et al., 2004). However, once a building has been constructed, it is difficult to
reduce its energy demand, and active solutions are required. These systems are designed to capture
the sun’s energy to convert it into heat or electricity and cover the building energy demand, like
solar collectors do. Different alternatives may be used to accomplish this objective and a proper

comparative assessment is needed before investment (Assiego De Larriva et al., 2014).



100
101
102
103

104
105
106
107
108

109

110
111
112
113
114
115
116
117
118

119
120
121
122
123
124
125
126
127
128

129
130
131
132
133
134
135
136
137

The European Commission recently issued the Circular Economy Package (European
Commission, 2015) to boost global competitiveness, foster sustainable economic growth and
generate new jobs. Within this global strategy, the sustainable use of resources is essential, and

two energy strategies come to front: energy efficiency and renewable energy (JRC, 2015).

On average, the energy use inside a residential building attributed to the operational water heating
accounts for 18-25% of the buildings total final energy (EuroACE, 2004; IDAE, 2014). Domestic
Solar Water Heating (DSWH) is a well-proven technology used to reduce the non-renewable
energy demand for providing operational DWH, and its potential to reduce domestic energy use is

frequently acknowledged (Hernandez and Kenny, 2012).
1.2 The Popular Republic of China’s energy characteristics

China’s energy development strategy can be divided into three stages since the reform and opening
of the Chinese economy. In the first stage, before 1990, China’s government emphasized energy
self-sufficiency by adopting policies such as reducing oil burning and replacing oil with coal. The
leading position of coal was strengthened in China's energy supply system in this first stage. In the
second stage, during the 90s, heavy industry developed rapidly and the proportion of heavy
industry exceeded 50% of China’s total industrial output value. The third stage started with the 21
century, in which the central government emphasizes energy security to meet soaring demand, and
pay close attention to energy-related environmental sustainability, such as lowering carbon

emissions.

Nowadays, China still depends on fossil energy. In 2010, the total energy consumption was 9x10"!
GJ, of which coal, oil, and natural gas accounted for 68%, 19%, and 4.4% respectively. New
energy, which comprise hydropower, nuclear power, and wind power combined, accounted for
8.6% of the total energy consumption (NBS, 2010). According to China’s Energy Development
Strategic Action Plan (2014-2020), efforts should be made to optimize the energy mix by
increasing the share of low-carbon energy (The State Council, 2014). The statistics newly released
by British Petroleum (British Petroleum, 2018) show that China’s natural gas consumption
increased by 15% in 2017, compared with to 2016, and reached 31 billion m® (i.e., 6.6% of 2017
total energy consumption); while solar energy grew by an amazing 76%. By 2020, the share of

natural gas will contribute to above 10% according to the planning of The State Council (2014).

According to the latest evaluation the China Association of Building Energy Efficiency (CABEE,
2016), the building sector consumed 20% of China’s total energy, which is approximately 15% of
the energy consumption by the global building sector, and this percentage is still growing (Xiao et
al., 2014). To curb this rising trend, Chinese government thus formulated a series of polices. The
Ministry of Housing and Urban-Rural Development planned to cut 3.4x10° GJ of fossil-based
energy use during the 12% five-year plan (2011-2015), and 26% of this reduction was achieved
from the promotion of renewable energy uses (MOHURD, 2012). In 2017, MOHURD released the
“Building Energy Conservation and Green Building Development Plan” to guide energy-saving

actions during the 13" five-year period (2016-2020). The plan set the goal towards “ultra-low

4



138
139
140
141

142

143
144
145
146

147
148
149
150
151
152
153
154

155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171

172
173
174
175

energy building systems” by using cleaner energy as a key avenue. As a major energy consumer of
a building, water heating system is especially encouraged to shift to sustainable energy in China.
Recently, MOHURD required to add solar systems to over 2 billion m?> when buildings are newly
developed (MOHURD, 2017).

1.3 DSHW LCA case studies

Life cycle assessment (LCA) and eco-design are comprehensive and integrated methodologies that
allow acting in the early stages of the product-supply chain alongside the more traditional,
technical, and economic criteria (Lagerstedt et al., 2003). Moreover, LCA is considered as an

appropriate tool to assess sustainability of products (Ness et al., 2007).

Product design is a critical determinant of a manufacturer’s competitiveness. It has been claimed
that as much as 70-80% of the costs of product development, manufacture, and use are determined
during the initial design stages (Barton et al., 2001). The earlier in the product design life cycle a
design team considers environmental factors, the greater the potential for cost reduction, and also
environmental benefits (Mascle and Zhao, 2008). In that sense, eco-design has been defined as
“‘the systematic integration of environmental considerations into product and process design’’
(Canada, 2003) and its main advantage is that these considerations could be taken into proper

account in the early stages of the design process.

LCA allows the quantification of environmental impacts and the evaluation of the improvement
options throughout the life cycle of a process, product or activity (Jacquemin et al., 2012). These
options could be applied in different stages of the life cycle: process selection, used materials,
design, end of life disposal, and system optimization (Azapagic and Cliff, 1999). As detailed in the
ISO standard 14040 (ISO, 2006), LCA addresses the issue of quantifying environmental impacts
(e.g., the use of resources and the environmental consequences of releases) throughout a product's
life cycle from raw material acquisition, through production, use, end-of-life treatment, recycling
and final disposal (i.e. cradle-to-grave), thereby avoiding burden shifting. These characteristics
make LCA a relevant and holistic methodology that allows a correct eco-design of products
(Byggeth and Hochschorner, 2006; Cerdan et al., 2009). In spite of this, there are often hindrances
in integrating eco-design into the practice of small and medium enterprises (SMEs) (Fullana-i-
Palmer et al., 2005; Le Pochat et al., 2007). With SMEs, it is essential to apply the so-called Life
Cycle Management (LCM) principles (Fullana-i-Palmer et al., 2011), which aim at putting LCA
into practice, especially the “Good Enough is Best” principle (Bala et al., 2010). This is an aim
that has been pursued by the LCA community for many years, especially within SETAC Europe
developments, where LCA and LCM were even seen so distanced as to call them “two planets”

(Rebitzer et al., 2001) or, more recently, “Ebony and Ivory” (Baitz et al., 2013).

A variety of eco-design strategies exists, including the reduction of the amount and diversity of
materials used; the improvement of the energy efficiency during the use phase; or the design for
recycling, among others. The use of these strategies will depend on the type of product or service

or the objective of the company (Cerdan et al., 2009; Gazulla et al., 2010; Liick, 2012; Muiloz et



176
177
178

179
180
181
182
183
184
185
186
187
188
189

190
191
192
193
194
195
196
197
198
199
200
201

202
203
204
205
206
207

208
209
210
211

212
213
214

al., 2009; Platcheck et al., 2008). The application of these strategies may entail saving raw
materials and energy, as well as reducing emissions and waste, leading to a cost reduction, and

allowing for a more circular economy.

In the case of solar thermal systems, LCA studies have pointed to the implementation of eco-
design strategies mainly related to changes in materials and reductions in heat losses. Battisti and
Corrado (2005) identified that, for a thermal collector with integrated water storage, most of the
environmental impacts were associated to the production phase, specifically the tubes made of
copper, leading to a replacement of this material with steel. Related to the use phase, the authors
also proposed the use of an additional covering for the collector, a transparent insulating material
(TIM) layer, in order to improve its performance for energy production. Also related with the
covering, Chaurasia and Twidell (2001) proposed in their study the evaluation of the performance
of an integrated collector with and without a TIM layer. In this case, the collector with TIM
glazing was found to be more effective than the glass glazed collector by reducing the heat loss

factor (UL).

Martinopoulos et al. (2013) identified the environmental impacts from the use of different
materials in domestic solar hot water systems (DSWH). The net environmental gain achieved by
the use of DSWH is influenced, by up to 20%, by the materials and techniques used, among
others. In that study, LCAs of a range of typical DSWH were performed. Their environmental
impact, as well as the influence from the use of different materials or/and manufacturing
techniques on their impact, was identified. As thermal efficiency differs from system to system,
their environmental performance is influenced mainly by the conventional energy substituted and,
to a lesser extent, by the materials used for their production. A study comparing unglazed and
glazed solar thermal panels showed that the performed LCA, using Eco-indicator 99, resulted in
198 eco-points for the DSWH with traditional glazed panels and in 18 eco-points for the unglazed
one. Overall, 93% of the impact of the traditional DSWH was due to panel production (Comodi et
al., 2014).

Ardente et al. (2005) identified that the direct energy used during the production process and
installation is only 5% of the overall energy consumption and that another 6% is consumed in
transportation along the life cycle stages. The remaining percentage is employed for the production
of raw materials, used as process inputs. These results show that the direct energy requirement is
much less important than the indirect one (in fact, the production processes consist mainly in

cutting, welding, bending and assembling steps with a low energy demand).

(Piroozfar et al. (2016) concluded that, amongst the five solar heater types considered, the one
with electric backup appeared to be the environmentally preferable one. The study also stresses the
need for a life cycle approach in order to reflect environmental impacts holistically and to facilitate

better decision making.

Another LCA, carried out by Allen et al. (2010), for a solar hot water system, concluded that the
production phase, especially due to the production of aluminium, is a high energy intensive one

and produces most of the environmental impacts of the system. The adopted eco-design solution

6



215
216

217

218
219
220
221
222
223
224
225
226
227
228

229
230
231
232
233
234

235
236
237
238
239
240
241

242
243
244
245
246
247
248
249
250

was an increase of the recycled aluminium percentage for the collector frame. The results of the

study showed around a 20% reduction in several environmental impact categories.
2. Aim of this work

Although solar energy is considered as a ’clean’ form of energy, environmental impacts occur
during the manufacturing, transportation, use and final disposal of the solar systems, due to the
consumption of resources and the emission of pollutants. The environmental consequences of
these transactions include, among others, natural resources depletion, greenhouse gas emissions
and acidification. Therefore, it is necessary to evaluate solar technologies accounting for both the
direct and indirect environmental impacts caused by the DSHW systems over their whole life
cycle (Martinopoulos et al., 2013). These products and systems have been investigated and
continuously improved in recent years (Comodi et al., 2014; Martinopoulos et al., 2013; Piroozfar
et al., 2016) but there is still margin for further improvement. Some guidelines have been issued to
assess the environmental impacts of building components from a life-cycle perspective (Lasvaux

etal., 2014).

This paper has obtained information extracted from the RENIA project (RENIA, 2012), which
aimed at helping Spanish manufacturers of solar (thermal and PV) systems to optimize their
products at the design level (Cerdan et al., 2009), reducing their life-cycle environmental impact,
as well as to develop Environmental Product Declarations (EPD) (EN 15804, 2008). Although
common in other countries, Spain has very little experience in EPDs, with few other projects such

as those described in (Benveniste et al., 2011; Gazulla, 2012; Passer et al., 2015).

Within this framework, this paper focuses on solar thermal collectors and tries to identify their
weak points (materials, processes, components) from a life cycle perspective and to generate
guidelines on how to optimize these systems in order to reduce their environmental impact. . A
comparison between two systems for DHW generation is carried out in Section 3. The first system
consists of a natural gas boiler (the most common source of DHW in Spain (Institute for Energy
Diversification and Saving - IDAE, 2016)), while the second one adds a solar contribution to the

gas boiler. Results are described in Section 4.

A second exercise is also done in order to understand the potential reduction of emissions at a
national level when ensuring a contribution of DSHW of at least 30% of the DHW demand. In this
case, a life cycle perspective has not been taken into account because the Spanish national
emissions inventory does not consider scope 31 emissions. Instead, the exercise focuses on the
displacement of technologies, when the share of a renewable technology in the mix is increased.
This issue is explored, and different results are provided, in Section 5. Although, the life cycle
perspective is not included in the characterisation factors, the authors believe that this exercise is a
starting point for discussing about different displacement methods and their consequences. The

aim is to obtain an estimate of the directly avoided emissions and to check the consequences of

1 Scope 3 emissions are all indirect emissions (except those from the generation of purchased energy) that
occur in the value chain of the reporting system, including both upstream and downstream emissions.



251
252
253
254
255
256
257
258
259

260

261

262
263
264
265
266
267
268
269
270

271
272

273

choosing one displacement method or another. If a life cycle perspective were adopted with
regards to national emissions, these emissions would increase. Likewise, if, in the avoided
emissions due to the use of solar thermal, the whole life cycle were accounted for, then the avoided
emissions would be reduced due to the emissions generated along the life cycle of the solar
thermal system which, as discussed in this article. However, national emissions inventories still
only account for direct emissions. Therefore, these are the ones that will be considered for the
analysis of emissions reduction in China and Spain. The eco-design measures suggested in the
article would contribute to reducing the emissions from solar thermal systems in the indirect life

cycle stages.

3. Life Cycle Assessment of two DHW alternatives

3.1. Product Systems

This LCA is focused on a product designed and sold by the Termicol Company, which was a
partner in the abovementioned RENIA project. This product is a forced circulation solar system
used to produce Domestic Hot Water (DHW). The LCA has been performed in line with ISO
14044 (2006). The study was performed using the LCA software GaBi and the Ecoinvent database
as the main source of background data. More specifically, the Energy Systems sub-database
(Dones et al., 2007) was widely used, from which the original model, named Solar System flat
plate collector for one-family house — Hot water, was chosen and adapted to be as close as
possible to the real system (Termicol, 2011). Table 1 shows the adaptation and the main
characteristics of the system.

Table 1. Adaptation and characteristics of the forced circulation system (Source: Dones et al.,
2007; Termicol, 2011)

Characteristic

Termicol model

Ecoinvent model

Adaptation required

Collector area
Absorption surface
Covering

3.8m?
Copper Selective
Low iron glass

4 m?
Copper Selective
Low iron glass

Adapt to the real area

Adapt the weight

(8 kg/m?) (9.12 kg/m?)
Collector frame Aluminium Aluminium -
Insulation material Rockwool Rockwool -
Water tank 300 L 600 L Adapt to real volume
Expansion vessel 18L 25L -
Tubes primary Copper Copper Adapt to real weight
circuit (3.24 kg/m?) (2.82 kg/m?)
Tubes secondary Copper Copper Adapt to real weight
circuit 7.13 kg 8 kg
Auxiliary heating Natural gas boiler No auxiliary system  Add an auxiliary system to
system the model
Thermal fluid Propylene Glycol Propylene Glycol -
Circulation Pump 102W 102W -
Electricity grid Spain Switzerland Adapt to Spanish Mix
Life 20 years 25 years Use 20 years as a

reference

3.2. Goal and scope definition



274
275
276
277
278
279
280

281
282
283
284
285
286

287
288

The main objective of this LCA is to evaluate the environmental impact of a solar system with
forced circulation, and to compare it with a traditional heating system that uses natural gas as its
main energy source. The results of the study should allow the identification of weak points in the
system and the proposal of several eco-design scenarios. A life cycle based eco-design scenario
development of industrial systems allows companies to know their products and their potential
improvement, giving them an advantage over their competitors and a robust way to communicate

to customers in environmental terms.

The functional unit (FU) is defined as the production of 1 kWh of thermal energy to cover the
DHW demand of a 6 persons house (the same as in the Ecoinvent database), located in Barcelona,
Catalonia, Spain. There are two basic energy scenarios: in the first one, the use of solar energy is
combined with an auxiliary heating system using natural gas to meet the demand; in the second
one, a system that only uses natural gas to meet the entire demand is modelled. For both cases, the

life span considered is 20 years. System boundaries are shown in Fig. 1 and Fig. 2, respectively.

\

Collector

Water tank
Expansion vessel
Hydraulic Pump
Tube insulation

Transport: Lorry and van
Forced circulation

Treatment heat carrier liquid

system

Circulation pump

. Solar system

Copper pipes production

Drawing of pipes Auxiliary system:

Propylene glycol Natual Gas modulating

Transport, freight, rail Boiler < 100kW Solar forced system

water with auxiliary heating

J/ Forced circulation system

system

Renewable energy:
solar fraction

Solar system use

Auxiliary system:
natural gas, low
pressure at consumer

Fig. 1. System boundary for the solar system with forced circulation.



289
290

291

292
293

294
295
296
297
298

299
300
301
302
303
304
305
306
307
308
309
310
311

312

Gas Boiler modulating <100kW

Y
Natural gas system
production
Y

Natural gas, low pressure,
at consumer

Y

Natural gas

Heating system using natural gas

system use

Fig. 2. System boundary for the natural gas heating system.
3.3. Inventory analysis

In the Life Cycle Inventory (LCI) Analysis, data were listed for each of the components and stages

for both systems (Figures 1 and 2).

Due to the fact that the studied solar system includes an auxiliary heating system to meet the
yearly demand of DHW, some calculations were done for the use stage in order to calculate how
much of the total energy was covered by each source (solar and natural gas). Literature containing
real data on use stage of solar systems is scarce. However, use and maintenance stages are relevant

as they have great influence in the performance of the solar system (Hernandez and Kenny, 2012).

According to the regulation established in Spain (CTE, 2013), building engineers must consider
that each residential building’s user consumes approximately 40 L of DHW at 45°C every day,
which means that a household with, for instance, six inhabitants has a yearly demand of DHW of
3,180 kWh (Table 2). To know how much of this demand can be covered by the solar system, also
called the solar contribution, two basic parameters should be taken into account: the collector
thermal efficiency Fr (Ur), related to the thermal losses (Ur); and the optical efficiency FR (ta),
related to the light transmission capacity of the covering (t) and the absorption capacity of the
copper surface of the collector (o) (Duffie and Beckman, 2001). Producers of this type of systems
usually provide values for both of these parameters. For the assessed system, the thermal
efficiency is 4.086 W/(m? K) and the optical efficiency is 0.77. Therefore, and also considering the
tank capacity and the area of the collector (78.9 L/m?), the solar system under study is able to
cover 75.6% of the yearly demand of DHW. The auxiliary heating system that uses natural gas

should cover the rest. Table 2 reports values for each month and for the yearly total.

Table 2. Yearly DHW demand and solar contribution (CTE-2013)

Month Temperature DHW demand (kWh) Solar contribution Solar
cold water contribution

10



313
314

315

316
317
318
319
320

321
322
323
324
325

326
327
328
329
330
331
332
333
334
335
336

337

O (KWh) %

Jan 9 311 157.5 50.6
Feb 10 273 174.4 63.9
Mar 11 294 2222 75.6
Apr 12 276 233.6 84.6
May 14 268 242.5 90.5
Jun 17 234 222.5 95.1
Jul 19 225 2194 97.5
Aug 19 225 216.4 96.2
Sep 17 234 209.7 89.6
Oct 15 260 198.6 76.4
Nov 12 276 163.9 59.4
Dec 10 303 142.8 47.1
Total 3,181 2,403 75.6

In the case of the traditional heating system, the entire demand is covered with natural gas: 8,781

m?® of gas over the 20 years of life span.
3.4. Impact assessment

In order to describe the environmental impacts of the system throughout its life cycle, some
categories were selected following the recommendations of the EN 15804 (2011), which contains
the core rules for developing Product Category Rules (PCR) of construction products. The selected
categories for emissions taken from the CML 2001 method, due to its problem-oriented

perspective (Monteiro and Freire, 2012), are those included in the EN 15804:

e Acidification Potential

e Eutrophication Potential

e Global Warming Potential

e  Ozone Layer Depletion Potential

e  Photochemical Ozone Creation Potential

The studied system is a high energy transformation product and, due to this fact, further impact
metrics are used, related to the cumulative amounts of both non-renewable and total (renewable
plus non-renewable) primary energy, which is directly and indirectly transformed over the
system’s lifetime. Both of these indicators, respectively named “non-renewable cumulative energy
demand” (NR-CED) and “cumulative energy demand” (CED) are calculated including the indirect
energy demand for the provision of materials. In some older literature, NR-CED is sometimes also
referred to as “gross energy requirement” (GER). This type of metric is a standard requirement by
the EN 15804 (2012), and it has been widely used in the scientific literatures for energy analyses
(Giirzenich and Wagner, 2004; Slesser, 1974; Thiaux et al., 2010) including previous LCA studies
co-performed by some of the authors (Puig et al., 2013; Raugei et al., 2007; Ulgiati et al., 2011,
2006), in spite of not being a standard LCA metric.

4. Results and discussion

11



338

339
340
341
342

343
344

345
346

347
348
349
350
351
352
353
354

355
356
357
358

359
360
361
362
363
364
365
366

4.1. Environmental profile of the system

Table 3 reports the results for the emission-related categories described above and shows the
percentage of relative change that the solar system produces when it is compared with a traditional
natural gas heating system. The comparison between the two systems can also be seen in Table 4,
where the cumulative primary energy demand is listed.

Table 3. Comparison of environment impacts from natural gas system and solar system by life-
cycle assessment.

Category Unit Natural gas system Solar system  Relative change
Acidification kg SO, 2.35E-04 2.50E-04 +6.2%
Eutrophication kg PO4> 2.48E-05 4.00E-05 +61%
Global Warming kg CO; 2.64E-01 9.24E-02 -65%
Ozone Layer — cpepy 4.07E-08 1.25E-08 -69%
Depletion
Photochemical e 6.06E-05 3.60E-05 -41%

Ozone Formation

Table 4. Values for non-renewable cumulative energy demand (NR-CED) and cumulative energy

demand (CED).
Unit Natural gas system Solar system Relative change
NR-CED MJ 4.63 1.65 -64.00%
CED MJ 4.65 5.30 +13.90%

When the solar system is compared with a traditional system that uses natural gas for DHW
production, a substantially environmental improvement is obtained due to the reduction of the
Global Warming Potential (-65% in Table 3). This is often identified as one of the most relevant
environmental indicators nowadays. This result is directly related to the use of non-renewable
primary energy (primary energy from non-renewable resources, Table 4), of which the solar
system uses 64% less than the natural gas system (and, correspondingly, as expected, much more
renewable energy). Improvements can also be seen in other impact categories of high relevance

such as ozone layer depletion (-69%) and photochemical ozone formation (-41%).

Categories like acidification and eutrophication (especially the latter) are weak points of the
environmental profile of the solar system throughout its life cycle, instead. These results can be
associated with the intensive use of metals in the production phase, causing an increase in the

environmental levels of acidic gases or phyto-nutrient discharges (such as nitrogen or phosphorus).

However, acidification and eutrophication are local categories that need a more detailed analysis
due to their radii of emission. For instance, in the case of the natural gas system, most of the
emissions that come from burning gas are produced in a smaller radius, focusing their impact on
the local community. On the other hand, the emissions from the solar system are mostly due to the
production of components and extraction of materials, activities which can be carried out in
different locations and possibly far from each other, making the emissions more scattered. A full
analysis of the above mentioned aspects is highly relevant in the analysis of local impact

categories, but falls outside the scope of the present paper.

12



367
368
369
370
371

372

373

374
375
376

377
378
379
380
381

382
383

384
385
386
387
388
389
390
391
392
393
394
395
396

After comparing both systems, and as a second step of the analysis, the solar system was
disaggregated into its components (Figure 1) in order to find the ones that contribute the most to
each of the impact categories. As a result of this disaggregation, the collector, the tank and the
copper tubes of the secondary circuit were identified as the components with the highest

environmental impact in the system (Table 5).

Table 5. Components with high environmental impacts in the solar system

Category Unit Collector Water tank Copper tubes

Acidification kg SO, 33.8% 25.0% 8.3%

Eutrophication kg POs* 23.8% 28.2% 1.8%
lobal i

Global Warming ke CO, 9.5% 14.6% 0.3%

Potential

Ozone Layer

Depletion kg CFCl1 5.9% 6.6% 0.2%

Photochemical kg Ethene 17.8% 24.6% 3.0%

Ozone Formation

4.2. Potential system improvements: eco-design scenarios

Based on the detection of weak points in the analysed solar system and guided by the previously
commented analyses in section 2 (Methods), the following eco-design scenarios were established

and evaluated:

(1) Production phase: replacement of copper tubes with galvanized steel tubes in the secondary
circuit of the system.

(2) Use phase: replacement of the glass covering with a multi-wall polycarbonate covering.

(3) Production phase: increase of the percentage of secondary (recycled) aluminium for the

collector frame.

The described changes do not affect the system durability or its need to any additional

maintenance.

Eco-design scenario 1: galvanized steel tubes

The main objective of this material substitution is to reduce the impact within the acidification and
eutrophication categories by using a material that is widely used in Spain for tube production
(galvanized steel). The virtual change of material was carried out taking into the consideration of
the dimensional and functional equivalence between tubes, changing from 7.14 kg of copper to
16.5 kg of galvanized steel.

The use of galvanized steel would yield a reduction of 5.77% in the acidification category for the
solar system (Table 6) and a small reduction in the photochemical ozone formation potential, too.
The reduction of these impacts is a positive result that could help to improve the environmental
profile of the solar system. The values for primary energy demand (Table 7) would increase by a
small proportion, demonstrating that the heavier steel tubes would be slightly more energy-
intensive than the existing copper ones.

Eco-design scenario 2: Polycarbonate covering

13



397
398
399
400
401
402
403
404
405
406
407
408
409
410
411
412
413
414
415
416
417
418
419
420
421
422
423
424
425
426
427
428
429
430

431

The main objective of changing the covering material from glass to a multi-wall polycarbonate
layer is to reduce the thermal losses and, therefore, obtain an increased efficiency of the collector
and a higher solar fraction using less natural gas as an auxiliary source for heating.

Multi-wall polycarbonate is known as an excellent material for insulation and it has been used
before in other solar collectors (Chaurasia and Twidell, 2001). The selected material is a 10 mm
thick two-wall polycarbonate. As the new material implies a change in the collector efficiency, the
new data has to be included in the calculation for the new solar fraction. This type of
polycarbonate has an optical efficiency FR (ta) of 0.69 (lower than that of glass) and a thermal
efficiency Fr (Up) of 3.2 W/(m?K). These values mean that polycarbonate has a lower capacity to
let light pass through the covering, but compensates for that with lower thermal losses, obtaining a
new solar fraction of 76%, which can be considered a similar value to the one obtained with the
glass cover.

The gain in solar fraction is minimal (0.4%), and this performance can also be observed in the
results for the emissions and primary energy demand (Table 6 and Table 7).

Scenario 3: Recycled aluminium for the collector frame

The aluminium used to produce the collector frame is initially a “wrought alloy” consisting of 90%
virgin or primary and 10% secondary (from new scrap) aluminium (Eco-invent Data Base v 2.2,
2009). The objective of this scenario is to use a smaller percentage of primary aluminium in order
to reduce the environmental impact of the collector. In order to take this into account in the
analysis, a new type of aluminium is selected from the database (“cast alloy”), which contains 20%
of primary aluminium, 47% of secondary aluminium from new scrap and 33% secondary
aluminium from old scrap. The typically lower tensile strength of all cast alloys is assumed not to
be a problem for the collector frame. In addition, since the environmental profile of these
aluminium alloys primarily reflect their primary/secondary compositions, irrespective of the
specific manufacturing process (“cast” vs. “wrought”), wrought alloys could conceivably also be
produced starting with a higher percentage of secondary aluminium (albeit probably not at the
same price point, because of higher scrap rejection ratios).

In the case of Spain, aluminium collection and recycling still has a very long way to go. Results
from the use of more recycled aluminium show a reduction in all of the emission impact categories
(Table 6), especially in the acidification potential, eutrophication and photochemical ozone
formation, demonstrating that the use of recycled aluminium results in less impact in terms of
emissions. The use of primary non-renewable energy in this scenario would decrease by 2.2%,
which is a positive result from less use of energy to extract and produce virgin aluminium (Table

7).

Table 6. Emission values for the eco-design scenarios

Category Unit Original solar  Steel tubes  Polycarbonate Recycled
system aluminium
Acidification kg SO, 2.50E-04 -5.77% +0.6% -4.63%
Eutrophication kg PO, 4.00E-05 +0.51% +0.8% -3.50%

14



432

433

434

435
436
437
438
439
440
441
442
443

444
445
446
447
448
449
450
451

452
453
454
455

Global

. kg CO2 9.24E-02 +0.83% -1.5% -2.67%
Warming
Ozone Layer 4 cpe,, 1.25E-08 +0.48% +0.7% 11.14%
Depletion
Photochemical
Ozone kg C>Hg 3.60E-05 -0.91% -0.8% -3.60%
Formation
Table 7. Primary energy demand for the eco-design scenarios
Category Unit Original solar  Steel tubes Polycarbonate Recycled

system aluminium

Primary energy
from renewable MJ] 3.65 0% 0% -0.2%
raw materials

Primary energy

MJ 1.65 +0.9% -0.9% -2.2%
from resources

5. National scenarios on addressing climate change
5.1. Climate change mitigation targets

The result of the COP21 held in Paris was the parties’ commitment to establishing a global
response to keep the global temperature increase below 2°C above pre-industrial levels during this
century. This idea was written in the Paris Agreement (PA) (UNFCCC, 2015), which Spain
ratified on 22" April 2016. During the COP 22, the parties worked on practical (working
programme (UNFCCC, 2016a)) and financial (UNFCCC, 2016b) aspects on how to implement the
PA. Although Spain has not submitted them yet, under the PA the different parties are invited to
upload their Intended Nationally Determined Contributions (INDCs) in a clear, transparent and
understandable manner. These data will define the amount of reduction in CO;-eq emissions that

the country is expected to contribute so as to achieve the global goal.

China became the world largest carbon emitter in the world from 2007, and is the world largest
residential energy consumer (Nejat et al., 2015). On June 30, 2015, China submitted its INDC to
the UNFCCC for preparing the COP21. Based on China’s national circumstances and
development stage, the Chinese government proposed several goals towards 2030, including
achieving the peaking of carbon dioxide emissions; a reduction of carbon dioxide emissions per
unit of GDP of 60-65% compared to 2005 levels; an increase in the share of non-fossil fuels in
primary energy consumption up to around 20%; and an increase in the forest stock volume by

around 4.5 billion cubic meters with respect to 2005 levels.

In the following sub-sections the potential reduction of national emissions in the event that an
increase of the share of solar thermal generation for DHW generation is mandated by the national
governments is assessed. The amount of CO, emission reduction depends on the criteria chosen to

replace current sources of DHW generation. In the case of a single installation described in Section

15



456
457
458
459

460
461
462
463
464
465
466
467
468

469

470
471
472

473

474
475
476
477
478

479

3 and 4, the comparison was based on the avoided emission of a natural gas boiler. The reason for
this choice is that natural gas is the main source of DHW generation in Spain. However, when
assessing a wider scope, such as the avoided emissions at a country level, it is considered that a

broader view of the substituted technologies should be applied.

Thus, five methods for technology displacement are explored: (i) mix, the most probable
technologies to be substituted by the new technology (Solar thermal) are proportional to the
current mix for DHW generation; (ii) most used, the increase of the share of DSWH implies a
reduction in the most used technology; (iii) positive, the increase of the share of DSWH implies a
substitution of a marginal mix of those technologies that have a positive growth trend (between
2011 and 2015); (iv) negative, the increase of the share of DSWH implies a substitution of a
marginal mix of those technologies that have a negative growth trend (between 2011 and 2015);
and (v) polluting, the increase of the share of DSWH implies a reduction in the most polluting

technologies, depending on their characterization factor (CF).

5.2. Spanish National scenarios

The Spanish household system uses around 614453 Tl/year (Institute for Energy Diversification
and Saving - IDAE, 2016), of which approximately 19% is used for DHW generation. The energy

sources and related CO, emissions for DHW generation in 2011 and 2015 can be found in Table 8.

Table 8. Energy source and CO; emissions in Spain for DHW production (Source: (IDAE, 2016))

SPAIN 1;311\;7 D;fW 1;3&1721 D;fW CF|t | Emissions
[MWh] 2011 [MWh] 2015 CO/MWh] [t CO

Coal 0| 0.0% 0| 0.0% 0.317| 0.00E+00
Propane 7.18E+06 | 18.9% | 5.41E+06| 17.7% 0.234| 1.27E+06
Diesel 1.79E+06 | 4.7% | 1.86E+06| 6.1% 0.263| 4.89E+05
Natural Gas 2.12E+07 | 55.7% | 1.50E+07 | 49.1% 0.182| 2.73E+06
Solar thermal | 1.55E+06| 4.1% | 2.39E+06| 7.8% - 0.00E+00
Geothermal 349E+04| 0.1% | 3.49E+04| 0.1% - 0.00E+00
Charcoal 1.28E+05| 0.3% | 6.98E+04| 0.2% - 0.00E+00
Wood 5.94E+05| 1.6% | 6.05E+05| 2.0% - 0.00E+00
Pellet 0 0.0% 0 0.0% - 0.00E+00
Other Biomass 0 0.0% 0 0.0% - 0.00E+00
Electricity 5.58E+06| 14.7% | 5.24E+06| 17.1% 0.267| 1.40E+09
TOTAL 3.80E+07 | 100.0% | 3.06E+07 | 100.0% 1.92E-01| 5.88E+06

Current Spanish legislation (CTE, 2013) states that at least 30% (and up to 70% depending on the
climatic zone) of the DHW production in new construction must be sourced by solar thermal
technology. Table 9 shows the hypotheses used and the resultant reduction of emissions which
may happen at the national level, if the above mentioned 30% is applied to all residential buildings

in the country, based on the five different methods (Mth).

Table 9. Baseline scenario, hypothesis, and results on five methods for technology substitution

16



480
481
482
483
484
485

Spain

National Emissions [t CO;] 3.29E+08
- Year Reference 2015
Z | Demand DHW [MWh] 3.06E+07
é Current Contribution DSHW [MWh] 2.39E+06
S | Current Share DSHW [%] 7.8

Current Mix DHW [t COz-eq/MWh] 1.92E-01

Current Emissions [t CO»-eq] 5.88E+06
L% Demand DHW Constant
E Suggested Share DSHW [%] 30
[a 9}
E Suggested contribution DSHW [MWh] 9.19E+06

Displaced Demand of DHW — mix [MWh] 6.80E+06
< | Mix Displaced [t CO,-eq/MWh] 1.92E-01
5 Resulting Mix [t CO,-eq/MWh] 1.92E-01
E Emissions Reduction [t CO2-eq] 1.31E+06

% of National Emissions Reduction [%] 0.397
< | Displaced Demand — most used (Natural Gas)
= |[MWh] 6.80E+06
@ Mix Displaced [t CO2-eq/MWh] 1.82E-01
E Resulting Mix [t COz-eq/MWh] 1.52E-01
8 Emissions Reduction [t CO»-eq] 1.24E+06
= | % of National Emissions Reduction [%] 0.376
< | Displaced Demand — positive marginal mix [MWh] 6.80E+06
E Marginal Mix displaced [t CO2-eq/MWh] 2.25E-01
E Resulting Mix [t CO2-eq/MWh] 2.00E-02
g Emissions Reduction [t COz-eq] 1.53E+06
& | % of National Emissions Reduction [%] 0.466
§ Displaced Demand — negative marginal mix [MWh] 6.80E+06
m | Marginal Mix displaced [t CO2-eq/MWh] 2.55E-01
E Resulting Mix [t COz-eq/MWh] 1.49E-01
é Emissions Reduction [t COz-eq] 1.33E+06
% % of National Emissions Reduction [%] 0.403
§ Displaced Demand — most polluting [MWh] 6.80E+06
% Mix displaced DHW [t CO;-eq/MWh] 2.42E-01
E | Resulting Mix [t CO,-eq/MWh] 1.38E-01
é Emissions Reduction [t COz-eq] 1.65E+06
2 % of National Emissions Reduction [%] 0.500

The five methods suggested have been applied displacing, in all cases, 6.80E+06 MWh of energy
sourced by different technologies. This amount of energy has displaced: (i) mix: the 2015 mix of
technologies; (ii) most used: natural gas; (iii) positive: a mix of 86% diesel and 14% wood (Table
10) (although it has a positive trend, Solar Thermal technology in the marginal positive mix is not
considered, as it makes no sense to consider that promoting more solar will lead to displacement of

solar); (iv) negative: a mix of 74% natural gas, 21% propane, 4% electricity, and 1% charcoal

17



486
487

488

489

490
491

492

493
494
495
496
497
498
499
500
501
502

503

(Table 11); and (v) polluting: all diesel, and 4.94E+06 MWh of propane are substituted by Solar

generation (Table 12).

Table 10. Positive method marginal mix

DHW % DWH % 2015- % CF Emissions
2011 DHW 2015 |[DHW| 2011 Mar oinal [t [t COs|
[MWh] | 2011 [MWh] | 2015 | [MWh] g CO2/MWh] 2
Diesel 1.79E+06 5 1.86E+06 6 6.98E+04 86 0.263 1.84E+04
Solar Thermal | 1.55E+06 4 2.39E+06 8 8.38E+05 0 0 0.00E+00
Wood 5.94E+05 2 6.05E+05 2 1.16E+04 14 0 0.00E+00
TOTAL 8.15E+05 2.25E-01 1.84E+04

Table 11. Energy displaced by technology applying the negative method

DWH 2015 %, Marcinal Increase of each
[MWh] o Viarg technology
Solar Thermal - - +6.80E+06 MWh
Propane 5.41E+06 MWh -21 -1.44E+06 MWh
Natural Gas 1.50E+07 MWh -74 -5.04E+06 MWh
Charcoal 6.98E+04 MWh -1 -4.75E+04 MWh
Electricity 5.24E+06 MWh -4 -2.76E+05 MWh
Table 12. Energy displaced by technology, depending on its emissions generated per unit of
energy
DHW 2015 CF [t Increase Remaining Remaining to be
[MWh] CO2/MWh] [MWh] [MWh] displaced
Solar 2.39E+06 - +6.80E+06 |  9.19E+06 6.80E+06 MWh
Thermal
Diesel 1.86E+06 0.263 -1.86E+06 0.00E+00 4.94E+06 MWh
Propane 5.41E+06 0.234 -4.94E+06 4.70E+05 0.00E+00 MWh

5.3. Chinese National scenarios

The residential sector accounted for approximate 25% of China’s total CO, emission and reached
up to 320 MtCO, in 2011 (Nejat et al., 2015). However, China lacks the statistical data related to
DWH. This is the reason why data from Zheng et al. (2014) is taken. Zheng, through a household

survey, obtained that DWH share was 14% of Chinese household energy consumption in 2013.

These authors also defined the structure of Chinese DWH energy consumption mix as: 43%

electricity, 31% natural gas, 25% solar and 1% other. Similarly, the DHW energy mix of China in

2015 was calculated based on a national DWH survey (People's Daily Online, 2016), showing that

the DWH energy mix of Chinese household was composed of 38% electricity, 37% natural gas,

21% solar and 4% others. Based on the two surveys, the emissions, derived from the DHW energy

mixes in 2013 and 2015, for the case of China were calculated and summarized in Table 13.

Table 13. Energy uses of China’s DHW and equivalent carbon emissions.

DHW o DHW o CF [t | Emissions
China | 2013 A,zlggw 2015 A’Zlgfsw CO/MW | 2015 [t
[MWh] [MWh] h CO1

18




504
505
506
507
508
509
510
511

512
513

Electricit

y 2.14E+08 57.63 2.06E+08 51.3 0.9625| 1.99E+08
Natural

Gas 8.97E+07 24.14 1.23E+08 30.6 0.182| 2.24E+07
Solar

thermal 6.51E+07 17.52 6.13E+07 15.2 - 0.00E+00
Other 2.60E+06 0.7 1.17E+07 2.9 0.9625| 1.12E+07
TOTAL 3.72E+08 100.0 4.03E+08 100.0 5.77E-01| 2.32E+08

are shown in Table 14.

because of the dominant role of air heat pump technology fuelled by electricity.

China’s DHW scenarios.

Note: CF represents carbon emission categorization factor, and Other CF is assumed to be represented by electricity

In contrast with the Spanish case, in China’s scenario a mandatory target for the contribution of
solar technology in DHW production does not exist. Therefore, the considered scenarios for the
increase of the Chinese energy demand of the DHW production sourced by solar thermal
technology are the same than the solar contribution target of the Spanish national scenario (30%).

The hypotheses and results of the Chinese national scenario based on the five different methods

Table 14. Baseline scenario, hypotheses, and results on five methods for technology substitution of

China

National Emissions 9.10E+09 t CO,

- Year Reference 2015
Z | Demand DHW [MWh] 4.03E+08
2 | Current Contribution DSHW [MWh] 6.13E+07
= | Current Share DSHW [%] 15.2
Current Mix DHW [t COz-eq/MWh] 5.77E-01
Current Emissions [t CO»z-eq] 2.32E+08

UEJ o Demand DHW Constant
© 7| Suggested Share DSHW [%] 30%
E Suggested contribution DSHW [MWh] 1.21E+08
Displaced Demand of DHW — mix [MWh] 5.95E+07

= | Mix displaced [t CO»-eq/MWHh] 5.77E-01
; Resulting Mix [t COz-eq/MWh] 5.77E-01
= | Emissions Reduction [t CO2-eq] 3.43E+07
% of National Emissions Reduction [%] 0.377

§ Displaced demand — most used (Natural Gas) [MWh] 5.95E+07
8 Mix displaced [t COz-eq/MWh] 9.63E-01
& | Resulting Mix [t CO-eq/MWh] 4.35E-01
£ | Emissions Reduction [t CO»-eq] 5.73E+07
% % of National Emissions Reduction [%] 0.629
< | Displaced Demand — positive marginal mix [MWh] 5.95E+07
E Marginal Mix displaced [t CO,-eq/MWh] 3.48E-01
E Resulting Mix [t CO2-eq/MWh] 3.48E-01
g Emissions Reduction [t CO»z-eq] 2.07E+07
& | % of National Emissions Reduction [%] 0.227
E § Displaced Demand — negative marginal mix [MWh] 5.95E+07

19




514

515

516
517
518
519
520

521

522
523
524
525
526
527
528
529
530
531

532
533
534
535
536

Marginal Mix displaced [t CO2-eq/MWh] 9.63E-01
Resulting Mix [t CO,-eq/MWh] 4.35E-01
Emissions Reduction [t COz-eq] 5.73E+07
% of National Emissions Reduction [%] 0.629
§ Displaced Demand — most polluting [MWh] 5.95E+07
% Mix displaced DHW [t COz-eq/MWh] 1.82E-01
E | Resulting Mix [t CO2-eq/MWh] 5.50E-01
E Emissions Reduction [t COz-eq] 1.08E+06
2 % of National Emissions Reduction [%] 0.119

Note: China’s national carbon emission is cited from IEA, 2018.

Table 15. Positive method marginal mix for China’s scenarios

DHW | % | DWH | % | 2015-
2013 |DHW/| 2015 |DHW/| 2013
[MWh] | 2013 | [MWh] | 2015 | [MWh]

% CF [t Emissions
Marginal | CO2/MWh] | [t CO2]

Natural

oas 8.97E+07| 24.1 |1.23E+08| 30.6 |3.35E+07 79 0.182 6.08E+06
Other |5.94E+05| 0.7 |6.05E+05| 2.9 |9.07E+06 21 0.9625 8.37E+06
TOTAL 4.26E+07 3.48E-01 1.48E+07

In Table 14, for all cases, 5.95E+07 MWh sourced by the different technologies are replaced by
the same quantity of solar technology. This amount of energy has displaced: (i) mix: of the 2015
mix of technologies; (ii) most used: electricity; (iii) positive: a mix of 79% natural gas and 21%
other (Table 15); (iv) negative: electricity (the same as “most used”); (v) polluting: all natural gas

substituted by solar generation.
6. Conclusions

Carrying out an LCA of a forced solar thermal system to provide DHW to a six-person house led
to the identification of environmental advantages and weak points when compared to a traditional
(natural gas) heating system. Whereas the solar system already showed an important improvement
in relevant global impact categories such as global warming, ozone depletion and formation of
photochemical ozone, there is still room for improvement. Solar thermal technologies can count on
another advantage, namely their high energy density (amount of energy generated per m? of
occupied roof). On the other hand, their fundamental weak points are in the acidification and
eutrophication categories, in which impacts were shown to be higher than for the conventional
systems. In particular, the water tank, the collector and the copper tubes of the secondary circuit

were found to be the components with the largest environmental impact.

The analysis led to the proposal of several eco-design scenarios. Specifically, the change of
material in the tubes of the secondary circuit from cooper to galvanized steel showed a relevant
improvement, especially in the acidification category. The use of a higher percentage of recycled
aluminium in the collector frame also produced improvements in all studied categories. Instead,

replacing the cover glass in the collector with a polycarbonate cover produced an almost exact

20




537
538

539
540
541
542
543
544
545
546

547
548
549
550

551
552
553
554
555

556

match for the solar fraction and also for the environmental impacts, and was therefore not found to

be a particularly effective eco-design strategy..

The potential reduction of emissions for the Spanish context, taking into account the increase of
use of solar thermal technologies, varies depending on the DHW generation technologies
displaced. The decarbonization of the energy mix and the electrification of the heating
technologies will probably lead to a reduction in the avoided impacts of DSHW. However,
nowadays there is still a lack of DSHW. A potential shift to renewable technologies of 22.2% of
the energy used in DHW is possible. This would imply a reduction in between 1.24E+06 and
1.65E+06 tonnes of CO»-eq emitted per year, corresponding between 0.38% and 0.5% of the total
(329 Mt) CO,-eq emissions in Spain in 2015.

By replacing electricity and natural gas with solar thermal technology for DWH in different
Chinese national scenarios, between 0.119% and 0.629% of the Chinese total CO»-eq emitted in
2015 can be reduced. Therefore, China has more progress to shift into solar DHW and contribute

to global GHG mitigation.

Future research should focus on exploring the feasibility of producing the systems derived from
the suggested eco-design scenarios at an industrial (manufacture) level, and their affectations in
the installation stage. In addition, consensus on which is the most appropriate displacement
method should be found so as to allow policy makers to better predict the variation of emissions if

a new policy is implemented.

21



557
558
559
560
561
562
563
564
565
566
567
568
569
570
571
572
573
574
575
576
577
578
579
580
581
582
583
584
585
586
587
588
589
590
591
592
593
594
595
596
597
598
599
600
601
602
603
604
605
606
607

7. References

Allen, S., Hammond, G., Harajli, H., McManus, M., Winnett, A., 2010. Integrated
appraisal of a Solar Hot Water system. Energy 1351-1362.

Ardente, F., Beccali, G., Cellura, M., Lo Brano, V., 2005. Life cycle assessment
of a solar thermal collector: sensitivity analysis, energy and environmental
balances. Renew. energy 30, 109—130.
doi:https://doi.org/10.1016/j.renene.2004.05.006

Assiego De Larriva, R., Calleja Rodr??guez, G., Cejudo L??pez, J.M., Raugei,
M., Fullana I Palmer, P., 2014. A decision-making LCA for energy
refurbishment of buildings: Conditions of comfort. Energy Build. 70, 333—
342. doi:10.1016/j.enbuild.2013.11.049

Azapagic, A., Cliff, R., 1999. Allocation of Environmental Burdens in Co-product
Systems : Product-related Burdens ( Part 1 ). Int. J. Life Cycle Assess. 4,
357-369.

Baitz, M., Albrecht, S., Brauner, E., Broadbent, C., Castellan, G., Conrath, P.,
Fava, J., Finkbeiner, M., Fischer, M., Fullana I Palmer, P., Krinke, S., Leroy,
C., Loebel, O., McKeown, P., Mersiowsky, 1., Moginger, B., Pfaadt, M.,
Rebitzer, G., Rother, E., Ruhland, K., Schanssema, A., Tikana, L., 2013.
LCA’s theory and practice: Like ebony and ivory living in perfect harmony?
Int. J. Life Cycle Assess. 18, 5-13. doi:10.1007/s11367-012-0476-x

Bala, A., Raugei, M., Benveniste, G., Gazulla, C., Fullana-i-Palmer, P., 2010.
Simplified tools for global warming potential evaluation: when ‘good
enough’ is best. Int. J. Life Cycle Assess. 15, 489—498. doi:10.1007/s11367-
010-0153-x

Barton, J.A., Love, D.M., Taylor, G.D., 2001. Design determines 70% of cost? A
review of implications for design evaluation. J. Eng. Des. 12, 47-58.

Battisti, R., Corrado, A., 2005. Environmental assessment of solar thermal
collectors with integrated water storage. J. Clean. Prod. 13, 1295-1300.

Benveniste, G., Gazulla, C., Fullana-i-Palmer, P., Celades, I., Ros, T., Zaera, V.,
Godes, B., 2011. Analisis de Ciclo de Vida y Reglas de Categoria de
Producto en la construccion. El caso de las baldosas ceramicas. Inf. la
Construccion 63, 71-81.

Blengini, G.A., Di Carlo, T., 2010. The changing role of life cycle phases ,
subsystems and materials in the LCA of low energy buildings. Energy Build.
42, 869-880. doi:10.1016/j.enbuild.2009.12.009

British Petroleum, 2018. Statistical Review of World Energy.

Byggeth, S., Hochschorner, E., 2006. Handling trade-offs in Ecodesign tools for
sustainable product development and procurement. J. Clean. Prod. 14, 1420—
1430. doi:10.1016/j.jclepro.2005.03.024

CABEE, 2016. Report of China’s Building Energy Consumption.

Canada, N., 2003. Design for Environment Guide.

Cerdan, C., Gazulla, C., Raugei, M., Martinez, E., Fullana-i-Palmer, P., 2009.
Proposal for new quantitative eco-design indicators: a first case study. J.
Clean. Prod. 17, 1638-1643. doi:10.1016/j.jclepro.2009.07.010

Chaurasia, P.B.L., Twidell, J., 2001. Collector cum storage solar water heaters
with and without transparent insulation material. Sol. Energy 70, 403—416.
doi:10.1016/S0038-092X(00)00158-4

Comodi, G., Bevilacqua, M., Caresana, F., Pelagalli, L., Venella, P., Paciarotti,
C., 2014. LCA Analysis of Renewable Domestic Hot Water Systems with
Unglazed and Glazed Solar Thermal Panels. Energy Procedia 61, 234-237.
doi:10.1016/J.EGYPRO.2014.11.1096

22



608
609
610
611
612
613
614
615
616
617
618
619
620
621
622
623
624
625
626
627
628
629
630
631
632
633
634
635
636
637
638
639
640
641
642
643
644
645
646
647
648
649
650
651
652
653
654
655
656
657

Crutzen, P., 2002. The “anthropocene.” J. Phys. 12, 1-5.
doi:https://doi.org/10.1051/jp4:20020447

CTE, 2013. Codigo Técnico de la Edificacion.

Dincer, 1., 2010. Renewable energy and sustainable development: a crucial
review. Renew. Sustain. Energy Rev. 4, 157-175. doi:10.1016/S1364-
0321(99)00011-8

Dones, R., Bauer, C., Bolliger, R., Burger, B., Heck, T., Roder, A., Faist, M.,
Frischknecht, R., Jungbluth, N., Tuchschmid, M., 2007. Life Cycle
Inventories of Energy Systems: Results for Current Systems in Switzerland
and other UCTE Countries.

Duffie, J.A., Beckman, W.A., 2001. Solar engineering of thermal processes, 1991,
4th ed, Intersciences Publication, USA. Wiley. doi:April 15, 2013

EN, 2011. UNE-EN 15804 - Sostenibilidad en la Construccion - Declaraciones
Ambientales de Producto - Reglas de Categoria de productos bésicas para
productos de construccion.

EN 15804, 2008. Sustanibility of construction Works — Environmental product
declarations — Core rules for the Product Category of Construction Products.

EuroACE, 2004. Towards Energy Efficient Buildings in Europe. London.

European Comission, 2002. EU Green Paper: Towards a European strategy for the
security of energy supply.

European Commission, 2015. Closing the loop - an EU action plan for the circular
economy.

European Parliament, 2012. Directive 2012/27/EU of the European Parliament
and of the Council of 25 October 2012 on energy efficiency. Off. J. Eur.
Union Dir. 1-56. doi:10.3000/19770677.L_2012.315.eng

European Parliament, 2010. Directive 2010/31/EU of the European Parliament
and of the council of 19 May 2010 on the energy performance of buildings.
Oft. J. Eur. Union.

EUROSTAT, 2018. Energy production and imports [WWW Document]. URL
https://ec.europa.eu/eurostat/statistics-
explained/index.php/Energy production and imports#More than half of E
U-28 energy needs are covered by imports (accessed 12.1.18).

Fullana-i-Palmer, P., Mantoux, F., Mila i Canals, L., Gazulla, C., 2005. Running
against the wind or how to disseminate IPP in the Spanish market, in:
SETAC Europe 12th LCA Case Studies Symposium.

Fullana-i-Palmer, P., Puig, R., Bala, A., Baquero, G., Riba, J., Raugei, M., 2011.
From Life Cycle Assessmentto Life Cycle Management. J. Ind. Ecol. 15,
458-475.

Gazulla, C., 2012. Environmental Product Declaration: a tool for the improvement
of products. Digit. Times. Universitat Autonoma de Barcelona.

Gazulla, C., Raugei, M., Fullana-I-Palmer, P., 2010. Taking a life cycle look at
crianza wine production in Spain: Where are the bottlenecks? Int. J. Life
Cycle Assess. 15, 330-337. doi:10.1007/s11367-010-0173-6

Giirzenich, D., Wagner, H.J., 2004. Cumulative energy demand and cumulative
emissions of photovoltaics production in Europe. Energy 29, 2297-2303.
doi:10.1016/j.energy.2004.03.037

Hernandez, P., Kenny, P., 2012. Net energy analysis of domestic solar water
heating installations in operation. Renew. Sustain. Energy Rev. 16, 170-177.
doi:10.1016/j.rser.2011.07.144

Hernandez, P., Kenny, P., 2010. From net energy to zero energy buildings:

23



658
659
660
661
662
663
664
665
666
667
668
669
670
671
672
673
674
675
676
677
678
679
680
681
682
683
684
685
686
687
688
689
690
691
692
693
694
695
696
697
698
699
700
701
702
703
704
705
706
707

Defining life cycle zero energy buildings (LC-ZEB). Energy Build. 42, 815—
821. doi:10.1016/j.enbuild.2009.12.001

IDAE, 2014. Detalle de consumos del sector Residencial/Hogares (2014)
Consumos para el sector residencial, por usos y fuentes energéticas
expresados en unidades energéticas, Informe anual de consumos energéticos.

IEA, 2018. China, People’s Republic of: Key indicators for 2015 [WWW
Document]. IEA World Energy Balanc. URL
https://www.iea.org/statistics/?country=CHINA &year=2015&category=Key
indicators&indicator=TotCO2&mode=chart&categoryBrowse=false&dataTa
ble=INDICATORS&showDataTable=true (accessed 10.1.18).

IEA, 2013. Transition to sustainable buildings - Strategies and Oportunities 2050.
Paris.

Institute for Energy Diversification and Saving - IDAE, 2016. Project Sech-
Spahousec, Analysis of the Energetic Consumption of the Residential Sector
in Spain (Proyecto Sech-Spahousec, Analisis del consumo energético del
sector residencial en Espafia). Idae 76.

ISO, 2006. ISO 14040 - Environmental management - Life cycle assessment -
Principles and framework.

Jacquemin, L., Pontalier, P.Y., Sablayrolles, C., 2012. Life cycle assessment
(LCA) applied to the process industry: A review. Int. J. Life Cycle Assess.
17, 1028-1041. doi:10.1007/s11367-012-0432-9

JRC, 2015. Some JRC examples. Sci. a Circ. Econ.

Kamp, L.M., 2008. Socio-technical analysis of the introduction of wind power in
the Netherlands and Denmark. Int. J. Environ. Technol. Manag. 9, 276.
doi:10.1504/1IJETM.2008.019038

Kylili, A., Fokaides, P.A., 2015. European smart cities: The role of zero energy
buildings. Sustain. Cities Soc. 15, 86-95. doi:10.1016/j.scs.2014.12.003

Lagerstedt, J., Luttropp, C., Lindfors, L.-G., 2003. Functional priorities in LCA
and design for environment. Int. J. Life Cycle Assess. 8, 160—166.
doi:10.1007/BF02978463

Lasvaux, S., Gantner, J., Wittstock, B., Bazzana, M., Schiopu, N., Saunders, T.,
Gazulla, C., Mundy, J.A., Sjostrom, C., Fullana-i-Palmer, P., Barrow-
Williams, T., Braune, A., Anderson, J., Lenz, K., Takacs, Z., Hans, J.,
Chevalier, J., 2014. Achieving consistency in life cycle assessment practice
within the European construction sector: the role of the EeBGuide InfoHub.
Int. J. Life Cycle Assess. 19, 1783—1793. doi:10.1007/s11367-014-0786-2

Le Pochat, S., Bertoluci, G., Froelich, D., 2007. Integrating ecodesign by
conducting changes in SMEs. J. Clean. Prod. 15, 671-680.
doi:10.1016/j.jclepro.2006.01.004

Li, D.H.W., Yang, L., Lam, J.C., 2013. Zero energy buildings and sustainable
development implications - A review. Energy 54, 1-10.
doi:10.1016/j.energy.2013.01.070

Liick, K., 2012. Energy efficient building services for tempering performance-
oriented interior spaces - A literature review. J. Clean. Prod. 22, 1-10.
doi:10.1016/j.jclepro.2011.09.001

Martinopoulos, G., Tsilingiridis, G., Kyriakis, N., 2013. Identification of the
environmental impact from the use of different materials in domestic solar
hot water systems. Appl. Energy 102, 545-555.
doi:10.1016/j.apenergy.2012.08.035

Mascle, C., Zhao, H.P., 2008. Integrating environmental consciousness in

24



708
709
710
711
712
713
714
715
716
717
718
719
720
721
722
723
724
725
726
727
728
729
730
731
732
733
734
735
736
737
738
739
740
741
742
743
744
745
746
747
748
749
750
751
752
753
754
755
756
757

product/process development based on life-cycle thinking. Int. J. Prod. Econ.
112, 5-17. doi:10.1016/].1jpe.2006.08.016

MOHURD, 2017. Building energy conservation and green building development
plan for 13th Five Year.

MOHURD, 2012. Special plan of building energy saving in 12th Five Year Plan.

Monteiro, H., Freire, F., 2012. Life-cycle assessment of a house with alternative
exterior walls: Comparison of three impact assessment methods. Energy
Build. 47, 572-583. doi:10.1016/j.enbuild.2011.12.032

Mufioz, 1., Gazulla, C., Bala, A., Puig, R., Fullana, P., 2009. LCA and ecodesign
in the toy industry: Case study of a teddy bear incorporating electric and
electronic components. Int. J. Life Cycle Assess. 14, 64-72.
doi:10.1007/s11367-008-0044-6

NBS, 2010. China statistical yearbook. Beijing.

Nejat, P., Jomehzadeh, F., Taheri, M.M., Gohari, M., Muhd, M.Z., 2015. A global
review of energy consumption, CO2emissions and policy in the residential
sector (with an overview of the top ten CO2emitting countries). Renew.
Sustain. Energy Rev. 43, 843—-862. doi:10.1016/j.rser.2014.11.066

Ness, B., Urbel-Piirsalu, E., Anderberg, S., Olsson, L., 2007. Categorising tools
for sustainability assessment. Ecol. Econ. 60, 498—-508.
doi:10.1016/j.ecolecon.2006.07.023

Passer, A., Kreiner, H., Maydl, P., 2012. Assessment of the environmental
performance of buildings: A critical evaluation of the influence of technical
building equipment on residential buildings. Int. J. Life Cycle Assess. 17,
1116-1130. doi:10.1007/s11367-012-0435-6

Passer, A., Lasvaux, S., Allacker, K., De Lathauwer, D., Spirinckx, C., Wittstock,
B., Kellenberger, D., Gschésser, F., Wall, J., Wallbaum, H., 2015.
Environmental product declarations entering the building sector: critical
reflections based on 5 to 10 years experience in different European countries.
Int. J. Life Cycle Assess. 20, 1199-1212. doi:10.1007/s11367-015-0926-3

Piroozfar, P., Pomponi, F., R.P. Farr, E., 2016. Life cycle assessment of domestic
hot water systems: a comparative analysis. Int. J. Constr. Manag. 16, 109—
125. doi:https://doi.org/10.1080/15623599.2016.1146111

Platcheck, E.R., Schaeffer, L., Kindlein, W., Candido, L.H.A., 2008. EcoDesign:
case of a mini compressor re-design. J. Clean. Prod. 16, 1526—1535.
doi:10.1016/j.jclepro.2007.09.004

Puig, R., Fullana-i-Palmer, P., Baquero, G., Riba, J.R., Bala, A., 2013. A
cumulative energy demand indicator (CED), life cycle based, for industrial
waste management decision making. Waste Manag. 33, 2789-2797.
doi:10.1016/j.wasman.2013.08.004

Raugei, M., Bargigli, S., Ulgiati, S., 2007. Life cycle assessment and energy pay-
back time of advanced photovoltaic modules: CdTe and CIS compared to
poly-Si. Energy 32, 1310-1318. doi:10.1016/j.energy.2006.10.003

Rebitzer, G., Fullana, P., Jolliet, O., Klopffer, W., 2001. An update on the liaison
of the two LCA-planets1: 11thSETAC Europe Annual Meeting, 6-10 May
2001 in Madrid, Spain. Int. J. Life Cycle Assess. 6, 187-191.
doi:10.1007/BF02979373

RENIA, 2012. No Title [WWW Document]. URL www.reniaproject.org
(accessed 12.1.12).

Schmidt, A.C., Jensen, A.A., Clausen, A.U., Kamstrup, O., Postlethwaite, D.,
2004. A Comparative Life Cycle Assessment of Building Insulation Products

25



758
759
760
761
762
763
764
765
766
767
768
769
770
771
772
773
774
775
776
777
778
779
780
781
782
783
784
785
786
787
788
789
790
791
792
793
794
795

made of Stone Wool, Paper Wool and Flax Part 2: Comparative Assessment.
Int. J. Life Cycle Assess. 9, 122—129. doi:10.1007/BF02978571

Schnitzer, H., Brunner, C., Gwehenberger, G., 2007. Minimizing greenhouse gas
emissions through the application of solar thermal energy in industrial
processes. J. Clean. Prod. 15, 1271-1286. doi:10.1016/j.jclepro.2006.07.023

Slesser, M., 1974. Energy Analysis Workshop on Methodology and Conventions,
6th ed. IFIAS.

Smithers, J., Smit, B., 1997. Human adaptation to climatic variability and change.
Glob. Environ. Chang. 7, 129-146. doi:10.1016/S0959-3780(97)00003-4

Termicol, 2011. Technical Manual.

The State Council, 2014. China’s energy development strategic action plan (2014-
2020). State Counc. 31.

Thiaux, Y., Seigneurbieux, J., Multon, B., Ben Ahmed, H., 2010. Load profile
impact on the gross energy requirement of stand-alone photovoltaic systems.
Renew. Energy 35, 602—613. doi:10.1016/j.renene.2009.08.005

Ulgiati, S., Ascione, M., Bargigli, S., Cherubini, F., Franzese, P.P., Raugei, M.,
Viglia, S., Zucaro, A., 2011. Material, energy and environmental
performance of technological and social systems under a Life Cycle
Assessment perspective. Ecol. Modell. 222, 176—189.
doi:10.1016/j.ecolmodel.2010.09.005

Ulgiati, S., Raugei, M., Bargigli, S., 2006. Overcoming the inadequacy of single-
criterion approaches to Life Cycle Assessment. Ecol. Modell. 190, 432—442.
doi:10.1016/j.ecolmodel.2005.03.022

UNFCCC, 2016a. Advance unedited version Decision - / CP . 22 Preparations for
the entry into force of the Paris Agreement and the first session of the
Conference of the Parties serving as the meeting of the Parties to the Paris
Agreement Entry into force and signature o 6-8.

UNFCCC, 2016b. Report of the Standing Committee on Finance.

UNFCCC, 2015. Paris Agreement, 21st Conference of the Parties.
doi:FCCC/CP/2015/L.9

Xiao, H., Wei, Q., Wang, H., 2014. Marginal abatement cost and carbon reduction
potential outlook of key energy efficiency technologies in China’s building
sector to 2030. Energy Policy 69, 92—-105. doi:10.1016/j.enpol.2014.02.021

Zheng, X., Wei, C., Qin, P., Guo, J., Yu, Y., Song, F., Chen, Z., 2014.
Characteristics of residential energy consumption in China: Findings from a
household survey. Energy Policy 75, 126—135.
doi:10.1016/j.enpol.2014.07.016

26



	1. Introduction and background
	1.1 The European Union’s energy characteristics
	1.2 The Popular Republic of China’s energy characteristics
	1.3 DSHW LCA case studies

	2. Aim of this work
	3. Life Cycle Assessment of two DHW alternatives
	3.1. Product Systems
	3.2. Goal and scope definition
	3.3. Inventory analysis
	3.4. Impact assessment

	4. Results and discussion
	4.1. Environmental profile of the system
	4.2. Potential system improvements: eco-design scenarios

	5. National scenarios on addressing climate change
	5.1. Climate change mitigation targets
	5.2. Spanish National scenarios
	5.3. Chinese National scenarios

	6. Conclusions
	7. References

